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12.1f b =14, A =58°, and a = 9, which law would you use first to solve and how many triangle

- solutions are there? Y[_aw )’f SIinés , 55’ A‘
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13. When a hockey player attempts a shot, he is 20 feet from the left post of the goal and 24 feet
A5. (g5 “from the right post. If a regulation hockey goal is 6 feet wide, what is the player’s shot angle

o the nearest degree?
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14. A lamppost tilts toward the sun at a 2° angle from the vertical and casts a 25-fo -
The angle from the tip of the shadow to the top of the lamppost is 45°. Find the length of the

lamppost. |go-4 24> 43 ~ |
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15. To estimate the height of Milton High School all the way to the top of the eagle
weathervane, two students stand on the front lawn looking up at it. Jack looks up with a 35°
angle of elevation. From a point 45 feet closer to the building, Emily looks up with a 51° angle

of elevation. Find the height to the top of the school.
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16. Find the area of a regular decagon inscribe in a C1rcle with radius 10 cm.
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